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Difference multipletwise of eigen reg vs. eigen dit, self weighted
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Minirunwise difference of eigen reg vs. eigen dit, self weighted
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Difference multipletwise of eigen reg vs. eigen dit, maindet weighted
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Difference multipletwise of eigen lagr vs. eigen reg, self weighted

5500 6000 6500 7000 7500 8000 8500
Run+0.1*Minirun

15000−

10000−

5000−

0

5000

10000

M
in

iru
nw

is
e 

di
ffe

re
nc

e 
(p

pb
)  / ndf 2χ   8671 / 8542

p0        6.379±5.332 − 
 / ndf 2χ   8671 / 8542

p0        6.379±5.332 − 

Minirunwise difference of eigen lagr vs. eigen reg, self weighted
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Difference multipletwise of eigen lagr vs. eigen reg, maindet weighted
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Difference multipletwise of eigen lagr vs. eigen dit, self weighted
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Difference multipletwise of eigen lagr vs. eigen dit, maindet weighted
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Difference multipletwise of regular reg vs. eigen dit, self weighted
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Minirunwise difference of regular reg vs. eigen dit, self weighted
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Difference multipletwise of regular reg vs. eigen dit, maindet weighted
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Minirunwise difference of regular dit vs. eigen dit, self weighted
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Minirunwise difference of regular dit vs. eigen dit, maindet weighted

5500 6000 6500 7000 7500 8000 8500
Run+0.1*Minirun

600−

400−

200−

0

200

400

600

M
in

iru
nw

is
e 

di
ffe

re
nc

e 
(p

pb
)  / ndf 2χ  0.02012 / 157

p0        4.009±0.3061 − 
 / ndf 2χ  0.02012 / 157

p0        4.009±0.3061 − 

Tight cut - Minirunwise difference of regular dit vs. eigen dit, self weighted
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Tight cut - Minirunwise difference of regular dit vs. eigen dit, maindet weighted
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